
[image: image1.wmf])

1

(

)

(

x

x

x

F

-

=

l

l



[image: image2.wmf]c

x

x

Q

c

+

=

2

)

(


Intervals of interest are 
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Assuming the conjugacy is linear, so that 
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where H = ax + b

I saw in a book that H should end up being H(x) = -mx + m/2, where a = -m and b =m/2, but I just don’t see how to get there. I would like to see how to prove this and how to get a and b. Thanks.
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